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divise a∈ ℤ∗ b∈ ℤ

True a b False

nbdiviseur 𝑛 ∈ ℕ∗

𝑛

listediviseur

𝑛 ∈ ℕ∗ 𝑛   

listedivcommun 𝑎

𝑏

𝑎 𝑏

pgcd 𝑎 𝑏

𝑝𝑔𝑐𝑑(𝑎, 𝑏)

listedivcommun

ppcm 𝑎 𝑏

𝑝𝑝𝑐𝑚(𝑎, 𝑏)

premier 𝑛 ∈ ℕ∗

True 𝑛 False
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npremier

𝑛 ∈ ℕ∗

listepremier 𝑛 ∈ ℕ∗

𝑛

premiersup 𝑛 ∈ ℕ∗

𝑛

divise 

𝑏 𝑎

==
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nbiviseur 

n∈ ℕ∗

𝑘

n∈ ℕ∗

n

n for

i

range(2,n+1)

n+1

range(2,n+1) {𝑖 ∈ ℕ | 2 ≤ 𝑖 < 𝑛 + 1} = {𝑖 ∈ ℕ | 2 ≤ 𝑖 ≤ 𝑛}

n+1 range

i n

divise

True False

if

divise

if divise(i,n)==True:  

divise(i,n)==True

listediviseurs 

n∈ ℕ∗

n

n

for i in range(2,n+1): 

i n i liste

liste.append(i) liste

listedivcommun 

la lb a b

liste a b

for i in la: i la

i a

i lb

b if i in lb

i a b

liste

liste.append(liste) liste
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pgcd 

ppcm 

∀(𝑎, 𝑏) ∈ ℕ∗2 𝑝𝑔𝑐𝑑(𝑎, 𝑏) × 𝑝𝑝𝑐𝑚(𝑎, 𝑏) = 𝑎𝑏

𝑎𝑏

𝑝𝑔𝑐𝑑(𝑎,𝑏)

premier 

𝑛 ∈ ℕ∗

𝑛

𝑛 ∈ ℕ, 𝑛 ≥ 2

√𝑛

𝑛 False

𝑛 ≥ 2

𝑛 = 1

m √𝑛

floor math

from math import *

for i

m range(2,m+1)

i n

False

return False

return

n n True
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npremier 

npremier(n)

k i k

i

n

k n

i-1 i k=n-1

i k

n i i

i-1

i

k i

n=1

listepremier 

n

liste liste=[]

for i

n liste

i npremier

premiersup 

n

k n+1

n k

http://creativecommons.org/licenses/by-nc-sa/2.0/fr/

